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TABJIMLIA TIPOU3BOIHBIX
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ITPABHUJIA BBIYUCJIEHHUS ITPOU3BO/IHBIX
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TABJULA

ITPON3BOIHBIX
f(x) f(x)
C (const) 0
kx+b k
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HPABUTA BEIMUCJIEHUS
MPOU3BOIHBIX

U+V)=U"+V'
vy =U'V +UV"
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Hauaure npou3BoaHbIC PYHKIIUM:
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a)f(x)=x2—— z)f(x)=x‘5
X
= o
fifizl=x Cx=7 O/ =1x =
x2

) (x)=—5—
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a)f(x)=x"——

X

=
fl(x)=(x —;) =(x2)'—(1)' =
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=2x—(__2) =2x+—2
X =%



0)f(x)=x"-(2x-17)
fl(x)=(x")"-2x=-7+(x*)-2x-7) =
=2x-(2x=T7)+x"-2=4x" —14x+2x" =

=6x> —14x
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2 f(x)=x"
fr(x) = (x—S)r — _Sx—s—l = _Sx—6
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0) f(x) =3x’ =
X

’ L 5 ’ T\! -3 \!
f(x)=(x —?) =(3x)—-0x7) =
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HaiiguTe npousBoaHble GYHKIHH

a) [ (x)=x%+ x% 6)f(x)=—312+5x—-2;

B) f(x)=x2+8x—-1; 1) f(x)=2x%+x.



a)f(x)=x2+x3

f(x)=(x*)+(x") =2x+3x?

6)f(x)=%+5x—2

FO)=C) +(Gxy -2 ==L 45
X -G



¢)f(x)=x"+3x-1
f'(x)=2x+3

A f(x)=x°++/x
1

f'(x)=3x2+2\/;
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HaiiguTe npousBoaHble GYHKIHH

6) f(x)=+x (2x%- x);
r) f(x)=(2x - 3) (1 - x3).



6) f(x) =V x(2x* — x)
f’(x) =(Vx)'(2x* = x)+/x(2x* —x)' =

2x}=x)+Vx(@x—-1)=

zf

2xt—x
= +4xvx —+/x
2x




2)f(x)=(2x=-3)1-x")
fl(x)=2x=-3)1-x})+2x-3)1-x*) =
=2(1-x")+(2x-3)(-3x") =

=2-2x"—6x" +9x° =—-8x’ +9x* +2
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HaiiguTe npousBoaHble GYHKIHH

1+2x.
3-5x

x2
x-1’

a) y= 6)y=2
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p (x)=(1+2x) (3—5x)—(1-2I-2x)(3—5x) !
(3—5x)
2(3-5x)—(14+2x)(-5)
= (3-5x) e
S 6-10x+5+10x 11
= - -

a) f(x)=
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0)f(x)=2"—

, (x)2x-1)-x’2x-1)
0= (2x—1)’ E
C2x(2x-1)—-x7+2  4x*-2x-2x"
= T = O=-1¢"
— 2x° =2x

C (2x-1)
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HaiiguTe npousBoaHble GYHKIHH

a) y=x°%—3x*-x+ 5;

_x¢2 3
P) y——§*+“§“+1.

X
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a)f(x)=x"-3x"—x+5
fl(x)=8x"=3-4x’ -1=8x" —-12x° -1
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z)f(x)=x7+%+1 =Ex2 +3x7 +1

o= % I3
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—4
=x—9Y%x =x——
X
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Jlomaninee 3aganue:
Ne 803 (1-3)
307 (1,2)
309 (1-3).



